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SAHE (ZRBREREN) 27 444,000 11,988,000
B FRt 5 (Eif) 7 201,000 1,407,000
2 EEEH Erfs) 20 89,000 1,780,000
6~TAE(ERBREEN) 20 486,000 9,720,000
B F&+5 (&) 17 286,000 4,862,000
B F R Engs) 3 158,000 474,000
8~ 10AE (ZERBRERES) 6 576,000 3,456,000
8~10AHE (ERUVBEREN) 1 963,000 963,000
B F&5 (ERH) 5 383,000 1,915,000
B b4 (Enfst) 1 211,000 211,000
BEFED EGHRNERVBRER) 1 928,000 928,000
BmEEA S 20 90,000 1,800,000
EailliE 54 39,504,000
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SAME (ZERBREREN) 20 444,000 8,880,000
B F&5 (i) 5 201,000 1,005,000
B F R4 Grst) 15 89,000 1,335,000
6~TAE(ERBREREN) 18 486,000 8,748,000
B FRt5 (ERif) 14 286,000 4,004,000
2 EFEH @) 4 158,000 632,000
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